A BHASW
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HHASH 1,550,570 5,582,061 A4,031,491
= 15,774
Al 1,534,796
AXISE 23t 1,506, 170 2,478,006 A971,836
= 15,774
Al 1,490, 3%
XY A 459,761 1,326,678 A866,917
geldy 28 410,341 312,978 97,363
201 YLEr2H| 6,050 6,550 A500
01 AtSZeltl 6,050 6,550 A500
OF .Yz 822 MH 5,000
—g=2 S MH 50,0002 *35*100H & 1,500
—ZAEQ S BHE ME
1,000& *5000H *33 1,500
—SOIAIEES] T+ HE
10,000 x50 +43] 2,000
Of U ZNUE S HAZ2X SA|
7,000 #25F 141 %23 x3 1,050
203 HR=&H| 10,500 10,500 0
03 AIRZ=AHRFAH| 10,500 10,500 0
ORXHEE AIHHS =2 10,500, 000& 10,500
301 LEIE A= 313,791 245,928 67,863
02 Het=2stit= 141,000 125,000 16,000
Os&EH &&= 141,000
— 1 SshH 650,000& x50 «23] 65,000
—CHsta 1,000,000 38 »23| 76,000
10 AMAHIE A= 2,000 2,000 0
O & TE2 AN It 224
10,000& 100 23| 2,000
12 JIEtE4 = 170,791 118,928 51,863
ORHsMNE 24 163,291
—J2=s 34,5603 70 23| x252 120,960
—Fgag 34,5602 +70% x25]+52 24,192
= PR 34,560 70 23|« 1 4,839
—wSH| 3,000& +70H »23| x25& 10,500
—=23tAlE B2 S 20,0003 x70& 22 2,800
OZEIIE &Y 100, 000& 301543l 1,200
OAlRIgEDIE 2YAIY & EEIH
60,0002 70 4,200
O™ AR S & ME 4,200 *500H 2,100
307 21201 80,000 50,000 30,000
02 QB AE X 80,000 50,000 30,000
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08.15 2=EI|SHALAIY X 20,000,000 20,000
OFdE RHAEE XA 60,000,000& 60,000
FOIXXIHE &d3t X&A 32,260 13,700 18,560
201 LEr23H| 28,000 12,000 16,000
01 AtR22ltl 28,000 12,000 16,000
O&==x=IXI2Es ESXELI
4,000,000 *4H 2 16,000
OFXXHH Metzz2 8 2 XA
3,000, 000 44 2 12,000
301 LEE A= 2,560 0 2,560
10 At HI2 A= 2,560 0 2,560
ONd==0IIXE e =30 OHE ?IF ol
320,000 #2404 & 2,560
303 Z&3 1,700 1,700 0
01 Z&3 1,700 1,700 0
O=CXXIHE &4t B Alat 1,700
— xR 500,000 * 1K 2~ 500
-2 = 300, 000& 24 £ 600
- o 200,000 304 £ 600
SEUSEE =& 17,160 0 17,160
201 Ler23H| 5,000 0 5,000
01 AtR22ltl 5,000 0 5,000
O0lsAIZa 23] 5,000,000& 5,000
202 0ddl 2,160 0 2,160
01 =U0bI 2,160 0 2,160
Ogdlztdd JLF& Ol
20,000 x3H 3L 122 2,160
203 PRF=&H| 5,000 0 5,000
03 AIRZ=AHI2FAH| 5,000 0 5,000
OZUsHE HRFL 5,000,000& 5,000
405 KHoHESHI 5,000 0 5,000
01 Tt =S SF S 5,000 0 5,000
O0lsSAIES EIIHIE 2l 5,000
—OlsAd= 2,000,000& 2,000
—Jtict 1,000,000 = 1CH 1,000
—=37I 200,000 = 1CH 200
—d% = 1,800,000& 1,800
Aoty &2 3,990 3,990 0
A atg 2l 3,990 3,990 0
201 e 3,990 3,990 0
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7,000 3190 3,990
Ity e adst 1,042,419 1,073,588 231,169
& 15,774
Al 1,026,645
A2IEH SE 2at 189,419 220,588 231,169
= 15,774
Al 173,645
201 2pt23d] 7,150 7,310 2160
01 AtR22lt| 4,150 4,310 2160
OMIHNELZ P2 MY 2 AM HH
= 2,500 *2&+300% 1,500
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OSUesZ AU MRS 600
—=Jl2 70,0002 6H *13] 420
— 1 30,0003 +6H *13] 180
O=0I2sHH S HAXE SAH|
7,000 3 x53]x10& 1,050
03 A2 3,000 3,000 0
OAMEIHH |25 3,000,000 3,000
301 LetEas 32,597 34,495 A 1,898
= 15,774
Al 16,823
02 Zetzdstk=s 31,547 32,920 A1,378
OLERSAHMOSXNEX MHH)EHES
342,900% *23H*43| 31,547
& 15,774
Al 15,773
10 AR HIZ A= 1,080 1,575 A525
O=0I2sHH A S I =4I
7,000 *15F *102] 1,080
307 gIztold 149,672 178,783 A29,111
02 QIZHAAS X 108,872 147,983 239,111
OMOtE =¢lu=H| 12,770
—1e2d 67,0002 10 670
—293y 121,000& 100 12,100
OMOIE =8Ws Hl 20,000&*110H 2,200
O=0I2sHH 22| 90,000
—SHAIMOtSE 41,000,000& 41,000
—HIZAH AR AIE 3 19,000, 000& 19,000
— 2 ANFSHUREAIXZ 15,000, 000& 15,000
—NAESRHEAES 15,000, 000& 15,000
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158,500 x12& 1,902
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2,000,0002 2,000
04 QIZHHALE = 40,800 30,800 10,000
ORI93 Kol sMat M2, 2HIIH3!(
NAESS]) 10,000, 000& 10,000
ON193 RNHLBHE SMSHUE (NALS
8l) 3,000,0002 3,000
OXIRSEE ST HBEW A (H2SA
) 20,000,000& 20,000
OR8] ARISHB TSI (MOIS2D)
7,000,000& 7,000
OHI193l HIIEQ 2350 B0IE EIHMOIS
=7) 80,0002 800
MBEHEES X 853,000 853,000 0
201 LEt23H| 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
ONBISHEZES Mogiasg 600
o= 70,0002 %62 *18] 420
S 30,0002 %62 *18] 180
OMBISHEES BIIIA+Y
100,000& x6 & * 13| +4 2,400
307 212+0| ™ 850,000 850,000 0
03 ABICHHIEx2 850,000 850,000 0
ONBISHEZI(E) 850,000,000 850,000
HHSYZY(HHASD) 44,400 50,520 £6,120
ol 29yl 3,000 4,200 A1,200
=palsl 3,000 4,200 21,200
203 PR =& 3,000 4,200 21,200
04 REN2IHRFEYI 3,000 4,200 21,200
ORNM2IIERFAI 250,000 x12& 3,000
J23| 41,400 46,320 24,920
st 19,800 21,840 A2,040
201 Lty 19,800 21,840 A2,040
01 A2zl 19,440 21,840 A2,400
OFA2IgI1=3H] 18,000
—Ubt=ZH| 50,0003 =15 +12& 9,000
— 2| 50,0002 * 1524 * 122 9,000
O=AD| gxiz 120,000 *1CH+ 122 1,440
02 B2==24l 360 0 360
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